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( )1. What are the speakers talking about?

A. The Summer Palace, B. The radio. C. The weather.
( )2. What had they planned to do before they heard the storm warning?
A. Go sailing. B. Play tennis. C. Go bicycling.
( )3. Where does the man work?
A. In a shoe store. B. In a factory. C. In a movie studio,
( )4, What is the man doing now?
A. Making a phone call. B. Seeing the eye doctor.  C, Making an appointment,

5. What does the man mean?

—
et
o

A. He doesn’t usually get calls here.
B. He wants a telephone of his own.
C. He’s looking for a new job.
O BT H B 15 /N /NS 1.5 4,4 22.5 4)

T 6 B ATiE Rk HFRAERIREG G A IUA DM, A P AT ey AB.C =ik R
bt BARAFFEAEYRAEEE, THRSENRG W AEATAAEEANME, H
JVER S AP RS LA RRE S 5 A A A e N, BRSNS BE,

W T I — B X i, S 6 M 7T M /NEL
( V6. Where is Peter’s dad?

A. In the garden. B. In the street, C. In the park.
( )7. What is Ann doing?
A. Having dinner, B. Watering the flowers. C. Playing with her dog.
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( 18, What s the woman?
AL A police officer. . B. A passer-by. C. A taxi-driver,
( 19, What "s the problem with the 'i‘nzm?

A. He misunderstood the sign.
B. He didn't catch sight of the sign.
., He saw the sign and made a turn.

1 N T(TRN e G il (1 A NV DR I 3 R A N

( )10, What kind of sweater does the man buy at fast?

AL A wool sweater. B. A cotton sweater, C. A silk sweater,
( )11, How much does the man pay for the sweater?

A, 75 dollars. B. 65 dollars. C.67.5 dollars,
Wi R~ B il By 12 255 14 A/l
( 112, What does the woman want to do?

A. To interview the man in the gym.
I3 To take some exercise 1o get it
C. To sign up a PE class.
( )13, How often does the man suggest the woman work out at last?
A. Twice or three times a week,
B. Three or four times a week.
C. Four or five times a week.
( )14, What can we learn from the conversation?
AL She is cager to start the class,
B. She doesn ™t like weight-lifting.
C. The woman has done some exercises recently,
Wy B — BOAT G A 15 49 17 =AM,
( )15. What are the two speakers doing?
A. Making [riends with each other.
B. Talking about their friends.
C. Introducing their friends to others.
( )16, What 1s Rich like?
A, He is able. [3. He 1s outgoing. C. He is athletic.
( 117, What does Alice like to do?

AL Play table tennis, B. Go swimming, C. Go outing.
Wi G — B A 18 55 20 AN
( )18, When is the speaker talking?
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A. In the morning. B. In the afternoon. C. In the evening.
( 319, Who are the listeners?

A, Patients, B. Visitors, C. Nurses,
( )20. What is the purpose of the speech?

A. To introduce the program in hospital.
B. To welcome the patients.

C. To announce the hospital rules,

W 3Bt (2)

(E@|Y ka5 30 49
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( )1. How will the woman go to the town center?

A. By bus, B. By taxi. C. By train,
( )2. What is the man probably doing?

A, Washing a car. B. Painting a car. C. Repairing a car,
( )3. Where does the conversation take place?

A. At home, B. In a library. C. In a classroom.
( 14, Why was the man late?

A. He overslept.

B. He had no alarm clocks,

C. He did some shopping on the way.
5. How did the man break his leg?

A. He had a fall at the pool.

—
=

B. He had an accident while skating.
C. He fell jumping over a tennis set.

O SE T A (4 15 N R 1.5 4L WA 22,5 40

U T 6 BAtER G, FRAERRGE AU MR P T8 AB.C

A itk

Pkl R RR, AR A KA A AL R A BT Rk A T AR A a0k & AR )

MO ARG SN S A ah AT, BRAERRGERS.
Wi R il — B 36 LA S 6 FSE 7 PN/
( )6, What s the relationship between the speakers?

A. Professor and student.

B. Manager and secretary.

S 3
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C. School master and teacher.

( 7. How did the woman do her work?

A. Quickly. B. Helpfully. C. Carelessly.
Wr R i — B A . B 8 FIEE 9 NN,
( )8. What is the woman going to do this summer?

A. To go back to her family.
B. To spend a few days at the seaside.
C. To find something different to do.
( 19, Why does the woman think it special?
A, She will stay with her family,
B. Her parents will have a two-week holiday.
C. Her uncle will come to visit her from Florida.

W B i — Bl L DA 10 FNEE 11 /N,

( )10, Where does the running probably take place?
A, Beside a park, B. Along a sidewalk. C. Around a water station,
( )11. What are the children asked to do during the running?

A. To drink enough water.
B. To run as fast as they can.
C. To finish less than thirty minutes.
W B — B S 12 A 14 S AN,
( )12, What happened te the man on the trip?
A, He had a car accident,.
B. He got lost on the way.
C. The food caused his sickness,
( 313. How did he get back to the hotel?
A. He asked someone to drive him back,
B. He rent a car to help him,

C. He returned by taxi.

( )14. How was the man’s trip?
A, Unforgettable, B. Wonderful. C. OK.
Wy i — B L WA 15 B 17 SAYNE,
( )15, What holiday are the speakers mainly talking about?
A, Thanksgiving. B. Christmas. C. New Year,
( )16. Why are the children gathering near the department store?

A, To wait for the presents.
B. To buy something in lower price.
C. To watch the holiday’s shining lights.
( )17. Who is the Salvation Army(2£#% ¥1L#) raising money for?
A. The poor. B. The children. C. The homeless.

ca—#
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WP — B, PSR 18 B8 20 = AN/,
( )18. Why does the speaker give the talk to the students?
A. To scold them. B. To praise them. C. To encourage them.
( )19. How does the speaker offer to help the students?
A. By letting them pass the test.
B. By talking to them in person.
C. By treating them like Einstein.
( )20, What exam will the students have after meeting the speaker?

A. The final. B. The midterm. C. The test on Einstein.

Wr I BLULA R (3)

(B, %5 30 )

AEMAAF— F T, 2F. Q95N AR LEREALEL L, FFTATL L5 .4
WA mysreat A F AR L SRR EMEMF L,
& —F5 3t 5 /N /NI 1.5 4 4 7.5 41)
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( )1. When does the man probably come back?

A. Thursday. B. Friday. C. Sunday.
( }2. What color is the shirt?
A. Blue, B. Green. C. Yellow,
( }3. How much is a hamburger and Coke now?
A %2 B. $2.5. C. $4.
( }4. What is the woman doing?
A. Complaining, B. Apologizing. C. Explaining.
( )5. What are the speakers going to do?
A. Go on a trip. B. Buy some food. C. Wait for a taxi.

GE AT G 15 M L5 44 22.5 40
T 6 ARG, FESERGEFIUANA AP ATSE ALB.C Z A0
bk BAARA A AFEREGMEGET., AEEAFR MG AEAFE kS DM
AR S ARG B S A ab et K e, AR ERRELEAE.
Wr T T B i S 6 NS T /N
( )6. Where does the conversation take place?
A. In the shop. B. At home, C. At the clinic.

S5



( )7. What caused the woman’s headache?

A. Noisy children. B. Crowded stores.
Wr T i — B 3% . [ &5 8 FISE 9 BiA~/NEE,
( )8. What is the man busy doing?
A. Making a travel plan.
B. Visiting his pen friends.
C. Preparing for his final exams,
( )9. Why does the woman suggest going camping?
A.It’s cheaper than traveling.
B. The man has never camped before,
C. They can camp wherever they like.
W i — Be X i, (&5 10 FEs 11 B4~/

( }10. What’s the relationship between the two speakers?
A. Friends. B. Neighbors.
( )11. What can we learn from the dialogue?

A. The woman takes the bus to work.
B. The man lives close to his work place,
C. The woman often makes cakes at the weekend.
U R — B A 12 B 14 =A/NE .
( )12, What is the boy’s problem?
A. He doesn’t have enough time for studying,.
B. He doesn’t work hard at his lessons.
C. He finds studying difficult.
( )13. When does he do his homework?
A. After school, B. After supper.
( )14. What will he probably do?
A. Stop playing on the soccer team.
B. Give up working at the supermarket.
C. Spend less time at the Students Center.
Wi B — B L B 15 B 1T = AL
( )15. What is the talk about?

A. The hotel services. B. The sports center.
( )16. What time is breakfast?
A.7:00~9.30. B.7:30~9,00.
( 117, If you want to play tennis, where should you go?
A. The seventh floor. B. Behind the hotel.

e #

C. Loud music.

C. Boss and secretary.

C. After watching TV,

C. Holiday activities,

C.7.30~9.30.

C. The second floor.
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Wr i — B e, P25 18 24 20 =~ /hg,
( )18. Why was the boy excited?
A. He was good at cutting grass.
B. He was thought to be responsible.
C. He could earn money to support the family.
( 219, How did the speaker feel about the first day’s work?
A. He was tired but happy.
B. He was glad not to have to work the next day.
C. He felt ashamed that he had missed cutting some grass.
( )20. What does the speaker want to tell us from his work experience?
A, Never too old to learn.
B. Teenagers tend to be careless.

C. One can learn a lot from working,

Wr HEIA (4) =
(EFHmF B9 30 4

AAMAY AR — F_mY, 2% 0850, FARLERARLEL, ZTNEL 6.4
HAHB; T AE KR L R A AN LR F L,
O —F5 I 5 /NG NG 1.5 5584 7.5 4

TS BiE, FRMEEA AN AP S AB.C AR bk g2k
MR REGMELE, FLHEETELE AR 0SSO MATEF £ A @ik T
— AR, AR E AL i,

( )1. Why didn’t the woman accept the invitation?

A. She’s taking an exam on Friday.
B. She has to study on Friday.

C. She doesn’t enjoy tour on Friday.

( )2. How many points did the man make on the exam?
A, 95, B. 75. C. 85.
( )3. What does the man think about his new roommate?

A. He is present too often,
B. He doesn’t like him,
C. He is not present frequently enough.,
( )4, Why does the woman think that Johnson might be on a diet?
A. He looks like he’s lost weight.
B. He is thinner,
C. He doesn’t eat too much,

( )5. What does the woman believe?
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A. Sally has forgotten her.
B. Sally doesn’t understand her.
C. Sally wasn’t satisfied with her.
O B ZAT I 15 /N /N 1.5 4h w4 22.5 43)

TTF @S B ERRG, HRAEIRAOEAIA DM AP TS A B.C = Ak
P RN AR RS A SR, TR SRR G AT, R A A kS A
DA ARG B DA 5 A A R AR ), RS R R ik i,
Wr B Bk, 055 6 B 8 =N,

( )6. Where is Tom working now?
A.In a new factory.
B. In the same factory with Lee.
C. In a hook store.
( )7, What did Lee ask Tom to do?
A. To visit a friend just from the USA,
B. To call at her house and have dinner with her family.
C. To have dinner in a restaurant.
( )8. What can we know about Tom’s old job?
A. He was better paid.
B. He could do some reading when free.
C. He was busier,
W T TR — B L PSS 9 B 11 =AS/NEL
( )9. What are the couple doing?
A. Preparing to go to drinks of a neighbour.
B. Quarrelling about clothes.
C. Talking about what to wear in summer.
( )10. Do you think the man wanis to wear his sports coat?
A. Probably not.
B. Yes, he will.
C. Yes, he will wear it to go with his hat.
( )11, What is the woman going to wear?
A. A hat to go with the blue dress.
B. A sports coat,
C. A sports coat to go with a hat.

Wr PO BOW & S I 55 12 FIES 13 B~/

( )12. What is Mary going to do?
A. Help her father at the store.  B. Go with Peter. C. Visit John’s parents.
( )13, What is Peter going to do?

-4
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A. Stay in the city. B. Visit his parents, C. Go camping.
W T — B X aE, IS 14 25 17 MU~/
( )14. What salary does the company pay the first year?

A. $15,000, B. $13.500. C. $10,500,
( )15, Who is the woman most probably?

A. The man’s husband.
B. The manager of the company.

C. The man’s teacher.

( )16. How many people are asking for the job?

A, Two. B. Four. C. Seven.
( )17. What is not talked about in the interview?

A. Pay. B. Vacation. C. College life.
W — B e, A 18 A 20 =N,
( )18. What was the first thing that he saw after being stuck by lightening?

A, His wife, B. A clock. C. A tree,
( )19, What was Edward doing when he was struck by lightening?

A. Hiding under a tree. B. Entering the house. C. Driving a car.
( )20. What caused Edward to regain his sight according to one of the doctors?

A. A fall from the tree.
B. The unexpected return of his wife.

C. Another heavy blow.

Wr SRR (5)
(k@A i%ha 30 5)
ARMEyAF— F=AmY., 2 F. @50, AR LEFERXEL, RFAELRE. &
HAHmyae A FEAE L S EHAHNEREM T £,
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— M, R EAE— R,
( )1. What would the man most probably do?

A. Get some change from Jane,
B. Use the woman’s phone.
C. Go to look for a pay phone,
( )2. Which sport does the woman like?
A. Skating. B. Swimming. C. Boating and swimming.

( )3. Where are the two people?

>
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A.In a restaurant, B.In a car. C. On the street.
( Y4, Why was the woman so late?

A. Something went wrong with the bus,

B. She took somebody to hospital,

C. Something prevented her from catching the bus.
( )5. What does the man mean?

A. This apple pie tastes very good.

B. His mother likes the pie very much.

C. This pie can’t match his mother’s.
O TGOS N N 15 4L 4 22,5 40

WD R ERARG ., FRAEIIREGEANUA DM NGRS A B.C = Ak
‘F@iﬁﬁi{ﬁﬂ‘ﬁ-ﬁ'ﬁ-&ﬁ(#?fﬂﬁ’{iﬁ O E B AT 3 SR G AT AR A B ) 0 i & A R, A
SAVEP T AE A DMl 5 AR AR ), BRI GikHik,

Wr K — B % . [l 255 6 fUss 7 W'I/VI\H“Q

( )6. What's the job of the man?

A. He is a taxi driver. B. He is a conductor, C. He is a bus driver.
( )7. How much tip does the woman give to the man?

A, $ 1,25, B. $15. C.12. 75,
W B — B3 B 8 B 10 A4/
( )8. What does the woman want to do?

A. To go to the hospital. B. To go to a shoe shop. C. To post a letter.
( 9. How long will it take the woman ta get to the place?

A. 15 minutes, B. 20 minutes.. C. 30 minutes.
( )10, How will the woman go to the place?

A. On foot. B. In her car, C. By bus.

UF R BEAHE L IS 11 B4 13 =A/ME,
( )11, What's the relationship between the two speakers?

A. Manager and secretary.
B. Customer and shop assistant.
C. Teacher and student.
( )12. Why is the man late?
A. Because he missed the bus.
B. Because he was ill.
C. He didn "t tell.
( )13. What can we learn from the conversation?

A, The man is always late.

<104
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B. The man will fail the final exams because he is late.
C. The woman is pleased that the man is late again.

Wr I — B i [l 5 14 245 17 pUAS /g,

( )14, Where does the woman plan to go?
A, Up north. B. Mary White’s, C. Nowhere.
( )15, Where does Bob invite her to go?
A.To a bar. B. To a film. C. To Mary White’s,
( )16, Who do you think is Mary White?
A. An experienced doctor. B. Their friend. C. Bob’s sister,
( )17. How many people will go?
A, Two. B. Three. C. Four.

Wr R T — B LA 18 5 20 = A/
( }18. How long does the {light take?

A. 2 hours and 40 minutes,

B. 2 hours and 14 minutes.

C. 2 hours and 4 minutes.

( )19, What is the weather like in Seattle at present?
A. Partly cloudy. B. Rainy. C. Sunny.
( 120. At what gate will the plane arrive?
A, Gate 13, B. Gate 3. C. Gate 30,

Wr JJBLLIARE (6) o
(3L # % .5 30 5

AEMGAE— BT, 2. WL A AR LS ERAREL, RFARLRE . K
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( )1, What is the man going to do?
A. He is going to have dinner.
B. He is looking for a hotel.
C. He is trying to find the nearest street.
( }2. What did the girl think the boy should do?
A. Work another four hours.

B. Try to finish.
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C. Stop working on the homework.

)3. What is the relationship between the speakers?
A, Neighbors. B. Friends. C. Strangers,
)4, What are the two speakers talking about?
A, Paintings. B. Rivers and mountains. C. Hobbies.
)5. What did the woman see in the yard?
A, She saw -:0mcthing. B. She saw nothing, C. She saw a yard.
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)6. Where does the conversation probably take place?

A, In the store. B. In the lab. C. On the playground.
)7. What is the most probable result of the conversation?

A. The man will play tennis with the woman on Thursday.

B. The man will go to the game alone.

C. The woman will go to the game with the man.
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)8, Where are the man and the woman?
AL In the airport,
B. In the railway station.
C. In the company office.
19, When does the train leave for Montreal?

AL At ten to nine. B. At eight fifteen. C. At ten past seven.
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)10, Where does the man want to go?

A. History Museum. B. Art Museum. C. History Classroom.
)11, How often does No. 30 bus come?

A. Every 30 minutes, B. Every 15 minutes. C. Every 10 minutes,
312, How long will the man have to wait at last?

A. 30 minutes, B. 15 minutes. C. 10 minutes.
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)13, Who feels disappointed?
A, Mary. B. Jack. C. Both of them.

iz



